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E | (110 |

Wug - 3% / SECTION - A

aﬁﬁfﬁ W3 / Objective Type Questions :
v we 1/ 1oow$m%wwﬁr&wﬁvwa‘ﬁmﬁﬁ'wwﬁ?t
fodt 50 wot & ¥ A gRT g O W@ fawew wi OMR viiz 9% fafed
FR | ~ 50x1=50
" Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 qﬁestions. You have to mark your selected option on the
OMR-Sheet. o 50 x 1=50

1. sin(90° -A) =

(A) sinA " o(B) cosA

© tamA . (D) secA
2. ?lﬁoc=|3=60°_api’cﬁ'cqs(a—;ﬁ)aﬂﬂﬁ%

(A) aB) 1

(C) (D) 2

If o=p=60" then the value of cos(a—PB) is

@) ® 1

© N

(C) D 2

3. ﬂﬁ9=‘45°aﬁsin9+coseﬂﬂﬂ%
1 ® 2
® 7 |

© 1 o !
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(C) o 2 tan 60°

“10

C1If 0 = 45° then the value of sin 0 + cos 0 is l
: (
]
® B V2
% (B)
© 1 (D) 1
2
4. M A=300R q —2tan4 gmi
1-tan? A
(A) 2 tan 30° (B) tan 60°
(D) tan 30°

If A= 30° then the value of —21204_

1-tan? A
(A) 2tan30° . (B) ‘tan60° .
(C) 2tan60° (D) tan 30°

S. ﬂﬁ'tan@=%—'&ﬁ?ﬁsin9$l%%

: 5 12
(A) 12 (B) 13
5 12
~2 D <
© 13 (D) 5
If tarf@:% then the value of sin 0 is
5 12
(A) 13 (B) | i
S 12
(C) 13 (D) 2
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cos59°  tan80° _

[110]

sn31° . cotl0o®

S

€) (D)

b

2

Ife tan25° x tan65° = SnA QDA ARTAR
) 25° ' - (B) 65°

@ 90 » (D) 45°

If tan25° x tan65° = sin A t_ﬁén the value of A is

- - ' P
() 1+ x ' B) X

(A) 250 | ‘ ) | (B) 65°
(C) 90° (D) 45°

ﬂﬁcos(—)-&x—%ﬁtan9= .

x : _ X

© - o)
_ - B
1

g

If cos0=Xx then tan 6 =

X2

‘ , 2
1+x2 : .oyl x
: - e

(A)

' : X
© =% o) ==
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9. (1—COS4O)=
(A) COSQO(I—COS%G) (B) sin20(1+cos‘20)
€ sin®0(1-sin0) (D) sin 0 (1+sin2 ()
10, y-318 W frm forelt g s sy s 2 2
<@  (y,0) B (2,y)
© (0, x) D) A %
What is the form of a point lying on y-axis ? |
A (y,0) - B (2 y)
€ (0,x) ' (D)  None of these
11. ka;%ama;m&mm kx2—6x‘+1'=0 % T IR E
THE?
® 6 | ® s
© 9o D 10

For what value of k, roots of the quadratic équation k2 ~ 6x+1 =0
are real and equal ?

(A) 6 ) B) 8
€ o9 (D) 10
12 R W px) F T LIS 2/, @l § e pr) W@
TGS 3 ?
(A)  x-2 *(B) x+2
© x-1 D)  x+1

SS/A/605 Page 6 of 44




13.

14.

| [110]
If one of the zeros of the polynomial p(x) is 2 then which of the

following is a factor of p(x) ?
(A)  x-2 (B) x+2

€ x-1 | (D) x+1

gfe wgug cx2+ax+ba53k’<’l$a3ﬂ'{[3ﬁ,?ﬁa.ﬂimﬂﬁ%

a | .-a
(VI B

&I

© 2 D -

If 0. and-f be the zeros of the polynomial cx? +ax+b then the value

)

OfOLv.ﬁiS
a :  —-a
® B -
" b | b
(&) B o D -2
P # & e fyeme T R 2

(

@A) (x+3)(x-3) =*x2,—4x3 (B) (x+3)2 =4(x+4)
o) (2x-2 =4x2+7 (O dx o=
. Which of the following is a quadratic eqﬁaﬁon ?
(x-ii3)2 =4(x+4)

@A) (x+3)(x-3) —x2 —4x> (B)

: | 42 ' .
© (2x-2)% =4x"+7 (D) 4x+4x-4x

SS/A/605 . Page 7 of 44
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15, Fafafes § @ =197 Rum aftew 98 2 » (1
(A)  5Sx-x2=x24+3 (B) x3—x2=(x_1)3

(C) (x+3)%2=3(x2=5) (D) (V2x+3)2=0x2 .5
Which of the following is not a quadratic equation ?

(A)  Sx-x?=x2?+3 B) x3-x2i(x_1y

(©  (x+3)%=3(x%-5) o) (V2x+37 =2x2 15
16. foum T 2x2 ~7x46=0 & fdm 2

A 1 S ® -1

) 27 | (D) 37

The discriminant Qf tﬁe quadratic equation 2x2 —7x +6=0 is

(A)‘ 1  | | (B)'—l>

(C) 27 _ S D) 37
17. ﬁw%&gaﬁaﬁqﬁgx%z%mwé?

@. (20) @ (21

© (2,2) (D) i & mf

Which of the following points lies on the graph of x = 2 ?

A)  (2,0) B) (2,1)

<) (2,2) " (D)  all of these

E‘>_S//A/6—05_J . Page 8 of 44
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18. aﬁP+1,2P+1,4P~1miﬂtaaﬁﬁ%a‘1 P HH B

A 1 (B) 2
© 3 (D) 4
IfP+1,2P+1,4P-1are in A.P. thén the value of Pis

CUNES | B) 2

4 - D) S
The common difference of arithmetic progression 1, 5,9,..18

a2 ® 3
© 4 o 5

0o, @R I 5, 8, 11, 14, .. PH-w1 TG 387 ?

(&) 108 @ 11
€ 1279 ‘ (b) 13ﬁ
' Which term of the A.P, 58,11, 14, ... 1s 387
(A) 10th | B) 1lth
© 12t D) 13th

Page 9 of 44
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21. I A(0,1),B(0,5)T C(3,4 )R AaBC F oo g 5 0

" Ay,
76 (I g1 A) B f
A) 16 : : (B). 12
© 6 D) " 4

IfA(0,1),B(0,5)and C(3,4) are the vertices of any s

then the area ( in square unit ) of AABC is
@A) 16 IR B 12
© 6 ‘D) 4

22. tan 10°.tan 23°. tan 80° . tan 67° =

@ o | B 1

23 R 3 S s & derwel 1 SR 100 ¢ 144 8, A 37 v
(A) 10_:8/‘ B B 12:10
S(C)° 10: 12 : (D) 10:13

If the ratio of areas of two -simi]af‘tfiangles is 100 : 144 then the

ratio of their corresponding sides js
(A)_ 10:8 -~ (B) 12:10

0of 44
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25.

26.

Wéﬁﬁﬁaﬁmﬁgﬁmuﬁﬁ}%mm%@aﬁﬁ%% e
(A) S | (B)  Bewh @ |

(C) ¥ @ D) v A w5 T

A line which intersects a circle in two distinct points is called

() Chord (B Secaﬁt

(C) Tangent (D) None of these

awwﬁgﬁﬁaﬁww4 9%wﬁ%|ﬁw%mm
agmaﬁh‘w-@ﬂ?

A) 9:4 : (B 16:81

(C) 81:16 '. o . D) 2:3

The correspondlng sides of two similar triangles are in fhe ratio
4 : 9. What will be the ratio of the areas of the triangles ?

A) 9:4 @ 16:81 |
©) 81:16 - ‘D) 2:3

AABC ~ADEF @@ BC = 3 ¥, oF 4 3@ 31 A AABC 1 S

54 t2 B, T ADEF I CERERS
w sewz @ o6 12
(C) 196?@2 o ®) 40§12

| AABC ~ADEF and BC = 3 cm, EF = 4 cm. If the area of AABC is

54 cm?, then the area of ADEF is

‘ L 2
(A) 56 em? (B) 96cm

2 (D) 49 cm 2

() 196cm »
SS/AI60S ~ | Page 11 of 4
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fopet YT ABC B 2A = 90°, BC = 13 #ft, AB~ 12 % al Acim[mlqol

27.
@) s | (B) 4 4Hl
© s (D) 69
 In any AABC, ZA = 90°, BC = 13 cm, AB = 12 cm ; then the value ol
AC is
@ 3em (B) 4cm
(C)‘ 5cm | o 6cm : |
08. ADEF @l ApoR i foan -6 2D = £Q T S 2B, ﬁ‘iﬁq&ﬁqﬁ
Fa-ar ad 8 7 | B '
(A) zF; ZP - (B) _._ZF -0
p=cP o eEeF ‘
I(::)ADEF and APQJ;e-_it s given that £D = ~Q and £R = ~E, then
which of the following is c'orrgct ? |
| g B <F = £Q
(a) <£F=2£F " inir
© =sP B a
29. AABC wd ADEF g FBK % f& pE  EF
g = go° @ £F AT 2
(A)  30° | 4%
© ® ,ﬂ//l’;"ge T of 44
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ﬂ - - [1107]
AABC and ADEF are such that 42 = BC _ CA

| ‘ t = o

DE- EF _ DF and ZA = 40°

/B = 80° ; then the measure of ZFis
B 307, (B) 45°
© 60° | D)  40°
o, 2 e e vy it 1 e 2
@A) 1 B 2
© 3 . (D) IWfEd
The number of common tangents of two interéecfti’hg circles is
@ 1 | om0 *
c) 3 | : (D) 1nﬁn1te1y many
1. Qe % A H aqgm 64 : 125%??[3:%@?! Wwwﬁ%

(A) 05:8 | B 25: 16 |
o(C) 16:25 o gﬁaﬁg:@

The'ratic; of the volumes of two spheres is'64 :125. Then the ratio
' of their surface arcas is ‘

A) 25:8 R ) 25:16

(@] 16 : 25 - ' (D) none of these

32. 'aéﬂﬁaﬁﬁ@nﬁﬁﬂm4:5%@ﬁiﬂﬁﬁwm6:7@,

2 3T AT 1 I ?
(A) 96:125 B) 96:175
©)  175:96 . (D) 20:63

RECEER



“,_'i

ﬂ ~ [1l1o

The radii of two cylinders are in the ratio 4 : 5 and their heights a

in the ratio 6 : 7. Then the ratio of their volumes is

(A)  96: 125 (B) 96:175
(C) 175:96 (D) 20:63
33, Rﬁmaﬁa@ﬁﬁwﬁ@fq@w%é
A)  nR? - B 2nR?
(C) 3nR? (D)  4nR?
What is the total surface area of a hemisphere of radius R ?
a)  =r? o (B) 2@22
(C) 3mR? o (D) 4nR?
34, Rl Y % s 1 dew 880 A2 & of Frown 14 ¥ 2 wh
a) 10 | (B) 20 &
(C) 40 ﬁ'lﬁ RIS (D) 30 &
If the curved surface area of a cone is 880 cm?and its radius is
14 cm, then its slant height is
(A) - 10 cm ' V(B) 20 cm
(C) 40cm | (D) 30cm
35 afy Fedt T % Rl Y TR 243 2t & @ g PR A A
A) 28 - v (B 2/3 &l
© 3@ (o) 4
[SS/A/605 | ‘ page 141*
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36.

" 37

(C) Six times

| | [110]
If the 1eng§h of the diagonal of a cube is 243 cm, then the length of

its_edge is
(A) 2cm (B) 243 cm
() 3cm . | (D) 4cm

ﬁ?ﬁwmﬁﬂm@maaﬁm@@mﬁ%ﬁ%%%mw
fapa AT B S ?
Aawm J(B) I

@ mE ® T T

If the edge of a cube is .doubled then the total surface érea will

become how many times of the prev1ous total surface area (o

(A) .TWO times B) Four times
(D) Twelve times

%ﬁﬁﬁ%wﬁmaﬂtsﬁﬁw%@mﬁ%@?ww
1 T 2 ‘ |
(A) | 21 B) 4:9
C) 3:2 (D) 4:3
d that of a

The ratio of the total surface area of 2 sphere an

hemisphere having the same radius is




38.

39."

40.

o | y
afe fopet ardmal & 36 g Qe 1232 ¥ 2 2, M I firy MOE
%1

@A) 7 o (B) 14 @

©) 21dh (D) 28 &

If the curved surface area of a hemisphere is 1232 Cmchen i

radius is
(A)  7cm B) 14 cm
) 2lcm ' (D) 28cm

afe cos6)+c}os2 .9'=1 ?ﬁ sivn2 9'-|-sin'4 ) ?FI Iﬂq %

w - ® 1

© o '\ 2

If cos()-li-cos2 0=1 then the'value of sin'2 0+ sin? 0 is

@ -1 B’ 1

) o (D) 2
1+tan? A _
l+cot? A
(A)  sec2a e(B) -1
(C)  cot?2 | (D) tanZ2A

L SS/A/605 [ Page 16 of 44




N

E?g fﬁﬁﬁéﬁaafraﬁq—HTfwﬂisramﬂaﬁisnntzﬂa-a;, [ 140
: 14 | o
A —— B
( ) 20X32 ( ) 51)(72
8 15
Q) 5 2 Dl —
( ) '22X32 . ( ) 22X53

Which of the following fractions has terminating decimal
expansion ?

9

, 14 ) |
A = . B) T 2
20 32 ( ) 51 %72
8 , ol 5 15 ,
Q =85 v B F
92432 2 n2x53
42. P__ % w9 0:505 & Rrg I Ewa E
on x5™ ' :
| 101 _101
W B 3.3
21.,(52 ( ) ?..1><5‘3
101 - o101
|y — (D)
(€) 22352 23 x 52

In the form of __P . 0-505can be written as

on %5™
101 B) 101
(A 152 ol x53
. 101" 5 oL

S$/A/605



N | [110
43, Al W RS a=bg+r ¥ b=4,q=5 M r=18 awuﬁw%?

o) 20 (B) 21
(©) 25 | (D) 31

If in division algorithm a=bg+r, b=4, q=5 and r = 1, then what

is the value of a ?
@) 20 B 21
© 25 S D) 31
4. TR 2P axmt H
(A) 13 | B) -1,3 .
© L-3 . —1-3
‘The zeroes of the polynoﬁqial 2x2 - 4x-6 are
@ 13 B -1,3
© 1L-3 D) -1,-3
45. Wg (x3 +x2 +2x+1) (x2+2;§+1) w1 UH &
® s Co® o4
© s | D) 6
The degree of the polynomial (x3 +x2’ +2x +1) (x2 +2x+1) is
A3 (B) 4

© 5 (D) 6

| 58/A/605 |




-‘ | | | S [110]
46' N 3 ‘ -

@) xE-7 B) 2x%+7x+6
1. 2.1 4
(C) 2x +2x+4 (D) X+

Which of the following is not a polynomial ?

(A) x% -7 _ ‘ .,(B)‘ 2x% +7x+6
121 - 4

C += +4 : —:

(@] 2x 2x \(D) x+x_

47. it § R R age s 2w 28
A)  x2+4 i B) x2-4
€ x®-2x+4 D) f*+4B

b

Which of the following quadratic polynomials ‘has  zeroes

2and-27?
B  x2+4 B x4
C) x2-2x+4 (D) x*+48

48. ﬂﬁ“@“‘?t%nno%?ﬁ“‘“@“\ﬁ'“'*ﬁwm%
@A) 7 - B 10

. - 10
© -7 “(D)

[ss/A/605 |
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1110
If o and [} arc the zeroes of the polynomial 2 +7t+10 then th

value of o + B is

@) 7 B) 10
< -7 (D) -10
49.  (sin30" +cos30")—(sin60° +cos60° ) =
' A) -1 (B) O
€ 1 (D) 2
50. fe fguma 7gue (k-1)x2 + ki +1 1 T Y[ — 4 81 a1 k T A 2
.5 .5
@ -2 ® 3
4 | 4
© -2 o 2

If one zero of the quadratic polynom1a]

(k=1)x? +kx+1 is — 4 then
the value of k is

5 5
(A)‘ - (B) v
~ | -4 4
(C) -3 (D) 3
51. %@ﬁwﬁﬁpﬁ@mm@ PB T w?%@q@ﬁ?ﬁn—é%l
PA=8dM d1 pB =
(A) edl B) s
© 12 (D) 163
| | I
[ SS/A/605 | | page 20 ©
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E‘ ornal point P, t [110]
prom an external pomnt 7 two tangents PA and PB are drawn on a‘

{PA=8cm then PB =

circle. I
A 6em | (B) 8cm
© 12cm | (D) 16cm

7 pAE PBTHE ar fog PR % O 9 gH W N T e @ @

W@ L/APB = 80° @ ZPOA =

52.

@) 40° | iy
| (B) S0°

© 80° R o :
| (D) 60°

ar

circle with centre
at O and LAPB 8
0° then ZPOA =

(A) a0r ®)
: . .B) s0°

© 80 - ',(D) |
53

- ?ﬁqtﬁ}xa%eﬁﬁ@q(

@iﬁTﬁ»’W‘ﬁi@Tm 3
S

'gﬁq—maﬁmmgg ﬁ‘% Bt S arelt B

(A)  30° ‘ ®) ‘
g 45°

.(C) 60°
- (D) 90°
int of a

What 1
st
he angle between the tangent drawn at any Po

Circle an
; d the radius passing through the point of contact ?

; (A) 30° (B) 45°
(C) 60° (D). 90°
‘ o o Page 21 0_1—;:

[ SS/A7605 |




]

’ S | [ 110
E aﬁﬁﬁwaﬁaﬂm—ﬂHS%%ﬂﬁmaﬁawﬁww%

A) 3:4 B) 4:3

C) 9:16 | (D) 16:9

The ratio of the radii of two circles is 3 : 4 ; then the ratlo of thej

arcas s .
(A) 3:4 "B) 4:3
€ 9:16 (D) 16:9

55. -4zﬁnﬁﬁwméqa%wﬁ?q@3mwérﬁaﬁw 30°% P &GPl 2

@A) 51582 - | (B) . 416@tﬁ2

(C) 462 T2 | D) 406 A2

The area of the sector of é.c‘ircle of.radius 42 cm and central angle
: 30° is | | ‘

(&) 515cm? . | (B) | 416 cm?
(C) 462 cm? B N v,(D) 406 cm?

56. aqﬁﬁw&fﬁﬁwms 7%@@&&@1@@@6%
A) 7:5 . 7 B) 5:7

. . : _ D7 the
The ratio of the circumferences of two circles is 5 : 7 ; then
ratio of their radii is

B 7:5 ‘ B) 5:7

(C) 25:49 (D) 49:25

—Fage220f44
| 8S/A/605 | ‘




[110]

|

2A—’?tanzA=

s7. 7 s€eC
() 49 B) 7
© 14 (D) ©
58. afe x=acosb 3R y=bsin® o beZ +a2y2 _
(A) a?b? . | (B)- -/db
© a'b? D) 3,32

If x=acos® and y=bsin® then b2x2+a,2y2 =

@ @ @B ab
®) d‘_‘b“ ‘ | ' D) a?+ Db’

50. @tﬂw%.sﬁéwmaﬁwwﬁmﬁmnﬁaﬁ@w 60° ®, ql HEAR

AgmEY
(@) 10 o B 10v3H
(©) 15J§n°t . D) QOJ— rﬁ.

T
he angle of elevatlon of the top of a tower at a distance of 10 m

from its base is 60° - then the height of the toweT is

(A) 10m - . (B 104/3m

© 15V3m (D) 20J3 m

| SS/A/605 |
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60.

61.

62.

is its first term ?

[ 110

e gt gesl @ 30 ) o) S Ut @ T T £1 2yl A 60° 3

ST B, sﬁteﬁaaré%

(A) 30f il B) 353 dl
© 20437 o) 45v2 H
30 m from the earth and its string makes a

A kite isa at a height
angle 60° thh the-eart

h. Then the length of the strmg is

(A) 30V2m (B) ssf 3m
(©) 20f 3m (D) 45/2m
aﬁﬁéﬁmaﬁ?aﬂ sam?: 11@141#3#6{2%313@?5!;1%%&&
VR B) 2
© 3 D) 4

< 2 then whe

If 5th term of an A.P. is 11/'aqnd commobn difference 1

B) 2

A 1
o 3 D) 4
| n@ﬁma‘ﬁmm n2+2n+1%am6aﬁé
a) 29 " | 19 .
© 15 ﬁ@ﬁﬁ
e n2+2ﬂ+1 hen its 6th term S

The sum of an A:

p. with n terms 1
' 19
- of these€

(B)
onv

Aa) 29
© 15 o "
‘ Page 24 of 44
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23, Fmﬁaf@aﬁﬁamaaﬁ%?
A 1,7,9, 16, .., B)  x?, x3, x4, x°
% C) X, 2x, 3x, 4x, ... (D) 22, 42, 62,'82,

Which of the following is in an A.P. ?
(A 1,7,9, 16, ... B) " 3258,k 15

Q) x,2x, 3x, 4x, ... (D) - 22,42 62, 82, ...

B N N W  Jhr

@& 1,2,3,4.. (B 36912

© 2, 4, é, 8, ... D) 2%, 4% 62, 8%, ...

Which of the following is ndt_ in an A.P. ?

@A) 1,2,3,4, .. B 360912 ..

C) 2,4,6,8, : D) 22,42, 6% 8% ..
65. wAR & 1,4, 7, 10, ... % TIH zoﬁaﬂa‘m‘m‘%

(A) 500 (B) 540

(C) 590 (D) 690

The sum of ﬁrst 70 terms of the A.P. 1, 4,7, 10, ... 1s

(A) 500 (B) 540

© 590 (D) 690

[ SS/A/605 |
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66. Frafviad & free a1 % TR R ?
(&) sin260°+cos60" (B sin 90° x cos 90’
© sin?60° (D). sin45’x ——;
o ‘ L cos45
Which of the following vahies is equal to 17
(A) sin? 60°_+‘ cos 60° (B) sin90’ X COS 90°
€ sin260" D) sin45'x —i—
| , . cos45
67. cos?A(l+tan®A)= |
(A sin? By o 2T B) ﬂco‘seczA
© r D) tan®A
68. tan30 = (
1 .
© == D
e ( ). 1
69. cos 60°=
w 1 B B
R | |
© ‘ D
:7?2: " D) 1
\ ' m




[110 ]
g in290° —tan 45° —
a1 | B 2
© : D) o

71. ﬁﬂfﬁ%ﬁﬁ@%ﬂ%maw%wé;@_ IO,%?.

(A) x2+7x—30 . - (B) | x2;72;'-30}
) x2 +7x+30 ]‘ ('D)_ x? - 7x+30
Wthh of the following | qﬁadratic ,polynomials has zeroes
Send =107 . vl s .
| (A) | x2 +7x/—\30 . g (B)' x2 —7x—30
C)  x24 Tx + 30 _ (D) | x2 - 7x'+ 30

> ﬁm%@ﬂ%mﬁwmswﬁw 28, d %
%ﬁma@aa

(A x2 -3x-2 ' (B) - x2-3x+3

(C) %2 — 2543 _ (D) x2 +3x-2

I the sum of 'zeros of a quadractic polynomial

Product is - 2 then that quadratic polynomial is
2 _ +3
B)  x%_3x-2- B) x -3

2 4+3x-2
(C) x% - 2x+3 _ (D) X B

Page 27 of 4+
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73. 4 p(x) =x* - 2x3 +17x% = 4x+30 W q(x)=x+2 g i fear s
 WIThet T T @
A) 6 - B) 3
€ 4 - (D) 5
If p(x) =x*-2x3 +17x2 - 4x+30 is divided by q(x)=x+2 the
the degr'ee of the quotient is :

(A) 6 [ - (B 3

< 4 | D) . 5
74. x+2y+3 =0, 3x+6y+9 =0 % fha g &l ?
W wmw @ i 7 7
© whmE o waRiE
| How many solutions will ’x+2y +3 TO, 3x+6y+9=0 have?
(A)  One solution |
(B) .No solutibn

(C) Infinitely many solutions

(D) None of these
75, amm%a@ﬁwﬁmam@@mﬁﬁ
@ 1 (B) 2

(C) 3MfMa (p) WA it @ 28 of 44
page
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ﬂ | - . " : [110
. If the graphs of two linear equations are parallel then the numbel

of solutions will be

w1 - B 2

(® infinitely many (D) . none of these

76, e FHIHT TH Sx—4y+8=0 T 7x+6y-9=0 2

A) gid (B) &

© ke 0 wHADE
' Tx+6y-9=0is

The pair of linear equations 5x—4y+8=0 and

(A) consisteﬁt (B) inconsistent

(€) c'i¢pendent" (D). " none of these .

77. ﬁfé_%mamﬁﬁﬂwsxz—berz’--o ¥ el aQﬁB‘&’”f?ﬁ a2+B2$T‘TF{%
w 2. ® 15
© S o £

If a ahd p are roots of the quadratic equation 3x2 _5x+2=0 then

the value of a? +[52 is

@ 2 ® 15
© 2 ® E

Page 29 of 44
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78.  af furd GHEOT 2x2 —7x— p=0 1 Th qA 2 B p 1A 2

(a4 B) -4

© -6 | D 6

If one root of the quadratic equation ox2 ~Tx - p=0 is 2 then t

value of p is
@ 4 B -4
© -6 . (D 6
79. T 2 5620 -3
% e T 2% - x-6=0 F G AT % A o 0
W -2 - B 2

s =3 then its
2

It one‘féot of the quadratic equation 2x% -x-6=0 i
; a_nother‘ro_ot‘ is |
a) -2 R B) 2
(C) % : : (D)v 5
80. o wufiwer 2% - 6x+3=0 %@iﬁﬁﬁ"m% ?
) R e @)
(C) ameerh e (D)

[ 'ss/A/605 |
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' : [110]
ﬂ what is the mnature of the roots of the quadratic equation

2x2 __6x+3=0 ?

A) - ‘real arid.uhequal (B) real and equal

(c) not real " (D) none of these

i st 2 - 5,5 -8, 8 - 11, ... % o bl ward R

8l.
B) 3

(D) 35

a) 2

c 4 ‘
The length of the class intervals of the classes,
2-5,5-8,8-11,...1is . "

@) 2 SRPRTRRRELY - "
-(C) 4 . (D) 35

82. afy W erTaR fersm T@madi %1 WL 6 7, i ged 9 9= 8
@) 45 | (B) 9 -
) 21 . | BRE (D) 15

If the mean of four consecutive Qdd numbers is 6 then the largest

-number is

(A) - 4:5 : (B) 9
<c 21 . | (D) 15
83, HW6WWG@T3T\TWHTW%
&) 4 . (B) 6
© 7 D) v e
The mean éf first 6 even natural numbers is
(A) ;1 B) 6
(C). 7 (D) none of these

SS/1-\*/605 ' : Page 31 of 44
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84. 14cot?e =

(A) sin? 0 (B) cosec20

(€) tan®0 . | (D) sec?9

'85. 8,7,9,3,9,5,4,5,7, 5% 9gwh 8

w s  ® 7

© 8 . O 9
The mode of 8,7, 9, 3,9, 5, 4, 5,7, 5 is
A) 5 - B 7
© 8+ o 9
86. aR P(E)'=0;02‘"'?ﬁ P(E') ST 2
(A) 0-02 | . (B 0002
© 098 D) 097

If P(E)=0-02 then P(E') is equal to

(A) 0-02 . (B 0002
(C) 098 - . -+ (D) 097
87. aqﬁaﬁ@ma%ﬂm%ywmﬁaﬁaiﬁwmsﬁﬁ‘
- iR W R ?
\ 1 | . —1-
@ 3z B ¢
5 -
(€) 18 - (D) 3
_  —— Page 320l
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ﬂ Two dice arc thrown at the same time. What is the probability that

the difference of the numbers appearing on top is zero ?

1 ' ‘ %
A 36 B 5
5 o 5
© 18 | O 36
88. ﬁ%ﬁﬁmﬁaﬁmsﬁéaﬂﬁaﬁqﬁm%
™ 5 | B 5
- 1 '
| <€ Z D) 1
‘ The probability of getting heads on both the coins in throwing two
| .coins is
1 ' 1
1 z
& — D 1
,( ) et . | D)
89, @ﬁﬁ@mmwmélmsﬁmw%@
UifeRdT 8 -
3 1
= 1
© = D) 3 |
ability of it being

A month is selected at random in a year. The prob

June or September is
3 y L
| 1
c) = (D)
€ 2 4

// Page 33 of 44
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1
@a 3 B) 3

2
O 2

© ¢

The probability of getting a number 4 or 5 in throwing a die is

(A) (B)

wW(~

1
2

o 1 o

2
3
91. fag (8 sin 60°, 0 ) 7T (0, 8 cos 60°) % 1< I gt &

w s @ 25
. | »' . } .‘ ‘ ‘1
{C) _6.4 . N | (D) -

The distance betweeh the points ( 8 sin 60° 0 ) ¢

(0, 8 cos 60°)is -

A 8- ) 25
R

92. ZrﬁO.(O,l-O)ﬁgﬁﬁﬁﬁﬁ%P%ﬁiﬁﬁﬁ(my‘)ﬁaiﬁOﬁ
(A -x2—y2 o B P
@ g o) wHITT

' ‘ Page 34 of
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ﬂ £o(0, 0 ) be the origin and co-ordinates of the point Pbe ( x, y)

theﬁ the distanpe OPis |

(A xé -y | B) yx%+y?

€ X ? Y i . (b) none of these
93. y—ﬁ&ﬁﬁ%‘(lz, 14)@@% e

W o1 | ® 14

(C) 13 _' D) 15

The distance of the point ( 12, 14 ) from the y-axis is

@ 12 , B) 14

© 1. D) 15

%, 1%!—‘3(—6;—8:)@3?@%' :
®. -6 | _"(B) -8
© s D) 8

The ordinate of the point (- 6,-8 ) 1s

A -6 B)- -8

€ 6 | (D). 8
P fig (3, 4) R me i fRm R P

W s B R

g it o= Page 35 of 44
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In which quadrant does the point ( 3, - 4 ) lie ?
"(A) First | (B) Second
(©) Third t - (D) Fourth
96. Frafeifad § si-w fag fedrar wgute F a2 2
A  (3,2) B (-32)
© (3.-2) O (-3,-2)

Which of the following points lies in second quadrant ?

@ 32y B (=32)

(C) (35¥2) D (;?’;2)
97. ﬁi&ﬁ(4,—4)3ﬁf.(»;4,‘4)ﬁﬁ'€fﬁaﬁi’@@“‘s’€snwﬁ§
" e

@ (44) B (0,0)

o (0,-4) @ (=%0)

The co-ordinates of the mid-point of the line segment joining ¥

points ( 4, - 4) and (-4, 4)are

w (w4 @ (00

© (0,-4) o (40 .
98. ‘r@@dzAB%nwfag(*z,M%aﬂtfﬁA*W(5””?@ .

B % s 8 |

@ (2,-2) e (B |

[Ss/A/605 |




99.

100.

-

‘and (-6, 10). Then the co-or

[ 110

The mid-point of line scgment ABis ( 2, 4) and the co-ordinates of
u CS O

point A are (5, 7), then the co-ordinates of point 3 are

(A) (2,—2)' B) (1,-1)

© (-2,-2)
Maﬁ%ﬂﬂ%ﬁﬁ%ﬁé&uﬁﬁ (10, -6 ) T (=6, 10 ) & 1 97 &

3 3 Prdmie 2

D)  (-1,1)

@A) (-2,-2) B (22)

© (-2,2)

The co—ordinétes of the end

D) (2,-2).

s of a dlameter of a circle are ( 10, -
dinates of the centrc of the circle are
A (-2,-2) B) (2,2)
D) (2,-2)

© (-2,2)
‘ Hﬁ%ﬁﬁ“ﬁa%sﬁﬁ%mm 6), 04 s (5, 5) @ @ 7
% ¥ H FGUE €

@ (53) B (3,4)

© (% 4) ) (3,5)

ices of a triangle are (4,6), (0, 4) and

The co-ordinates of the vert
roid of thc triangle are

es of the cent1

B) (3, 4)

(5, 5) then the co-ordinat

@A) (5,3)

) (4,4) o) (3.5)

~ Page 37 of 44
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@ug - & / SECTION - B

g I W [/ Short Answer Type Questions

g wear 1@ 30 7% g I weT &1 59A @ Rl 159 & I {1 p

g & o 2 o Fratfea 1

15 x2=]

Question Nos. 1 to 30 are Short Answer Type Questions. Answer a

15 queStions. Each question carries 2 marks. .

1.

15x2=1

wﬁ%ﬁsﬁg%.mwﬁﬁﬂ7@ﬁ@wﬁ§aﬁz4@ﬁ%a@
THYB 1 SAFS FA B

If the radius of base of a cone is 7 cm and its height is 24 cm ¢

find its curved surface area.

& Tt 1 e 1 gE H w7
Sy T B

th of the minute hand for a clbc

%'1'401%::{2&33%@11327%&1“

arté

k is 7 cm. Find the

The leng

‘swept by it in 40 minutes. ’

g ?ﬁiﬁﬁ tan 7° . tan 60° . tan 83° = ¥R

prove that tan 7° . tan 60° . tan g3° = V3.
Wﬁ%%ﬁiﬂﬁﬁﬁaﬁ?ﬁﬁiﬁ (*1,7')aﬁ1(4,—3)aﬁﬁmﬁaﬁ?
%@ﬂawéaﬁ:a:sasaﬁmﬁfﬁ:#aﬁmnﬁﬁrﬁﬁﬂ?' e |

. es i
' Find the co-ordinates - of the point which dl"l' mfe segme?
3) in the ratio 2 : 3 internally:

joining the points (~ 1,7)and (4, -

/// Page 38 of 44
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. WWW%G&WW%W(—S -1),(3,-5)d

5
(5, 2)¢8
Find the area of the triangle whose vertices are (=5,-1),(3,-5)
and (5, 2 ).
6. et 1 T 93 At 2l o %1 FA T8 fyFel T B
The diagonal of a cube 18 9./3 cm. Find the total surface area of
cube |
7 W@Wﬂzﬁﬂaﬂaﬁw o2 —2/2x+1=0 % 7e1 9 L
| Using quadratic " formula find the roots of the
ox2 —242x+1=0.
g - 3+LI+19+ .7 67$uﬁmsnaaa“u
| F1ndthesumof3+11_+19+...+67 - :
9. e e wHiaC HET 5 of w@ 9 df T P 43 @@ 2o & i gHIR FEl
e H N
¢ 5th and Oth terms of an A.P. are 43 and 79 respectively. find the

A.P.
10. amww'maﬁﬁﬁaﬁmzﬁﬂ 365 @l
sum of whos¢ squares

d two consecutlve positive integers,

Fin
1s365 _ . .
11. aawaﬁ%a:ﬁwm 180%|ﬁaﬁwwﬁasﬁdwwmgm%:
ga$m%3ﬁﬂwﬁWﬁ=@l
f the

bers is 180. The square o

ce of squares of two num
ber. Write the equation

The differen
e larger num

~ smaller number is 8 times th

for this statement.

[55/A/605 ] " Page 39 of 44
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12. WWPQRﬁaﬁ%SGﬁT T o PQ 1 FR ™ ¥ ¥6 5 {

PS _PT -
& S0~TF aul ZPST APRQ, @ fag ﬁs APQR Th “"‘ﬁ%

e 2l

In a triangle POR, two pomts S and T are on the sides PQ and PR

respectively such that g—g——% and £PST =ZPRQ, then prove that

' APQR is an 1sosceles triangle.
AB = ACW@W&H@AABC@W?W} o CB W & B 17

%laﬁ: AD L BC 3R EFLAC‘% ?ﬁﬁaaﬁ%AABD AECF 3|
E is a p01nt on S1de CB produced of an 1sosceles AABC with
AB= AC.If AD L BC and EF L AC, prove that AABD ~ AECF.
gserABaﬂIBcamrrr@mAansaqupoRﬁ
qu1 wifesr PM arngrnaﬁ i g ®

13.

14. T AABcéﬁ
gmaﬁ PQ 3R PR

E2 AABC APOR.

B . and BC and median AD of a AABC ar
m PM of another APOR.

e respectively

Sides A
proportlonal to 31des PQ and PR and mediu

_Then prove that AABC ~ APQR.
AABC 98T ADEF BFE & TU1 F1h &ARe FHI: 9
“af DE = 51 & dt ABTH B

auft? qun 64 A2 &l

18.
' 2 2

are 9 cm and 64 cm

AABC and ADEF are similar and their areas
respectively. If DE = 5-1 cm then find AB.

14+cosH 1+cosO

16. T [ :
e 1-cos0 sin 0

Prove that 14+cos0 1+cosO
1- cosO smO

[SS/A/605 |
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17.

18.

19.

[ 110)
fyg #L % tan9° . tan27° —cot63°.cot81°,

Prove that tan 9° tan27° =cot 63°.cot81°.

Ife cosAz-g- E‘f?ﬁ\cotAafﬂ cosecA%FWH?maﬁ\

If 'cosA=% then ﬁnd the values of cot A and cosec A.
@7ﬁﬁﬁm%m30°mmm%|mmmﬁgﬁ
oré g ) W G ) w2

A ladder 7 m long makes an angle of 30° with the wall. Find the \

~ height of the point on the wall where the ladder touches the wall.

20.

21.

22,

23.

e @i =ges ABCD # Yo AD % §G W W E wh fag & @ BE,
CD FW;ﬁﬁﬁiW%?ﬁ%ﬁﬁAABE~ACFB.

E is a point on the extended part of the side AD of a parallelogram

ABCD and BE intersects CD at F ; then prove that AABE ~ ACFB.

ABcw.wﬁﬂrgmaﬁwﬁga 3 R £C wEHN 2 fag L 5
AB2? =2AC2. ' -
ABCis an isosceles right triangle with £C as right angle. Prove that
AB? =2AC?. ‘ | |
Ife tan9=T5§ gl dl sin 6 + cos.BEFIH'Fl?[ﬁﬁI
If tan 0=->th ;

15 then find the valqe of sin 6 + cos 6.
afg sin3 A=cos (A — 26°) ‘@IWSA@?HW%?ﬁAWWWﬁI

' d the

If sin3 A=cos(A - 26°), where 34 is an acute angle, then fin

value of A.

M;J/l“;‘ 4+

| SS/A/605 |
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24,

25.

26.

27.

28.

29,

30.

,[110|
aawaﬁmﬁmsoéwmﬁﬁm@ﬁﬁ 3 M1,

A gEEd [ i

The sum of two numbers is 50 and one number is % times of the
other ; then find the numbers.

firg U 1% 5- V3 © safie g 2

Prove that 5-43 is an’ 1rrat10na1 number.

k%%@rm%mﬁ@(l 1), (3, k)aﬁr(—l 4)%‘&@%9

For what value of k pomts (1, 1), (3, k) and (-1, 4) are
collinear ?

y-ﬂamwﬁmﬁfgmaﬁa‘rﬁﬁaﬁ 6,5) 3ﬁ'{(—4 3)@14%3@1
;o

Find such a point on Y-axis which is equidistant from the points

X3 +1 Y x + 19w i

Divide x3 +1 by x + 1.

'mmwmwmw 504 QT 1188 & HoWo Wd Y|

Using Euclid's vision algorithm, find the H.C.F. of 504 and 1188.

feama wfihwor 2x2 155 -3 o%%ﬁwmﬁaﬁ‘@@m‘ﬁm

B

. ' , - 2
Find the discriminant of the quadratic €quation 2x<+5x_3_

and find the natyre of the roots also.

(SS/A/605 |  Pagcazorag
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: stions

e Fad W / Long Answer Type Que

1#38%3@“&!3?%!3#‘3!}%7@ 4“’5’“%%‘{&\%

4 x5 =20

W%fﬂsmﬁu’rﬁﬁ%l

1 to 38 are Long Answer Type questions. Answer any
4 x5=20

£

Questzon Nos. 3
4 questions. Each questton cames 5 marks.

g T FH x+3Y —6= o @ul 2x-3y-12= 0 1 FE B A
& B | |

31.

Draw the 'graphs of the Ipair.of lineaf’equvations x+3y—-6=0 and
2x — 3y ~12=0 and solve them.-

32. »mﬁ%ﬁﬁmﬁﬁwwﬁw@ﬁgﬁ%@aﬁm%wﬁaﬁ
Emﬁaaitamwwmﬁﬁ%ﬁjﬁm%%l

If one angle of a triangle is equal to one angle of the other triangle

and the sides 1ncluded between these angles are proportlonal then
prove that the triangles are similar.

33.
amﬁ@mmmﬁasﬁgsﬁwﬁ%‘@ﬂﬁw$
ﬂvﬂw 1 T R @ wen T ﬁl
At !
wo digit number ] is four times of the sum of its digits and twice
the product of its digits. Find the number.
34. 7. YarEe @S  foafr X 4
7:6 T a1 o YeEs W i T 5 : 8 % I A w1
BRI e 11 |
Draw a line segment of length 7-6 cm and divide it in the
5: 8. Measure both parts. '
SS/A/605 | | gl ¥
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: secO0-tan0
35. ﬁn‘g’aﬁ% ( )=1+2tan29-—2scc().tan0.

(secO+tan0)

Prove that (secO-tan0)

- a2 ,
| (Sec()+tan0)_1+21an 0-2secO .tan0.

36. @ gl i Bsand seaw: 19 ¥f 3k o ¥ht §| 3@ gu A e
fRorebt afefr 5 31 gl 1 Rt 3 @ % wUs A
The"radii of two circles are 19 cm and 9 cm respectively. Find

radius of the circle which has circumference equal to the sun

the circumferences of the two circles.

37. freAfeifiad ded I AT FId H
of s | 11-13 | 13-15 | 15-17 | 17-19 | 19-21 | 21-23 23-2
IR 7 | 6 9 | 13 20 5 | ¢
Find the mean of the following distribution :
Class- [ 1713 13-15 | 15-17 | 17-19 | 19-2]
interval '
Frequency 7 6 ‘9 | 13 20, ’
38. w WiF ¥ foad H fdw FAE 4 2 o1 ga¥ ga Rl & T
- (qfefera) 18 @ft aﬂi6ﬁﬁ%’lw%ﬁ$maﬁgﬁa,éﬁwmﬁl
The slant height of a frustum of a cone is 4 cm and the perimete’
(circumferences) of its circular ends are 18 cm and 6 cm. Find th
curved surface area of the frustum.
[ ss/A/605 | page 440 %




(secO-tan0)

35. R _ 2g_9ge _
g % (SecO+tan0) 1+2tan“ 0-2sccO .tan0.
’p (secO—-tan0) 24 A
\ rove that (secO+ tan0) =1+2tan“0-2scc0 .tan0.
36. @ i H et Hwn 19 ¥ft 3k o ¥ ¥ 3@ g9 H B TE
fraeh) aitfy 39 Q1 et Y wifrt & o & ST R
The_'radii of two circles are 19 cm and 9 cm respectively. Find the
radius of the circle whic_h has ciréumference equal to the sum of
- the circumferences 6f the two circles.
37. frafafad sed &1 ae {1 w
o FaUE | 11-13 | 13-15 | 15-17 | 17-19.| 19-21 | 21-23 | 23-25
AR 7 | 6 9 | 13 | 20 5 4
~ Find the mean of the following distribution :
Class- | 14 131 13.15 | 15-17 | 17-19 | 19-21 | 21-23 | 232
interval ’
,LFrequency 7 6 9 13 20, S 4

38. @@%maﬁ%m4ﬂvﬁ%wmwmﬁw
 (aiRrt) 18 A i 6 At ) 70 Fowen 1 AHYER ST A B

The slant height of a frustum of a cone is 4 cm and the perlmet'f’rs

(circumferences) of its circular ends are 18 cm and 6 cm. Find the

curved surface area of the frustum.
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